PHILIPPINE NATIC L OIL COMPANY PNOC Building VI, Energy Center, Rizal Drive, BGC, Taguig City TIN 000-169-191-000 VAT

PURCHASE ORDER

PY-716 (Rev. 09/88)

	E AND ADDRESS		YOUR QUOTATION REFE	RENCE	Contraction of the second	PO Nº	298795
2 HUBBARD STREET FILINVEST 1, BATASAN HILLS QU QUEZON CITY					REQUISITION		
				STOFFER LOQU		DATE PO PRI	EPARED 29, 2024 /
DELIVER PROMPTLY TO PNOC BLDG. G, ENERGY CENTER, RIZAL DRIVE, FORT BONIFACIO, ABOVE PURCHASE ORDER MUST APPEAR ON ALL SHIPP THE COMMODITY CODES SH					G DOCUMENTS	ACCOUNTING	
TAGUI	G, M.M. J.T. EVANG	wither the owner of the first	ALL INVOICES AND SHIPPIN FOLLOW ALL INSTRUCTION PURCHASE ORDER.			DOLLAR CON	VERSION/AMOUN
YMENT TERM	IS (UPON SUBM	ISSION OF ORIGINAL IN	IVOICE & PO)	DELIVERY TERM		The first state	i second
NET 30 DAYS					DATE: WIT		Contraction of the second s
RIGIN	nortectal and a server halflydius to server	an all of the analysis of definition	n manage sources to terms	ORDER (P		N RECEIP	T OF PURCHA
		DESC	CRIPTION	QUANTITY	UNIT PRICE		AMOUNT
3	pack		CELL AA, 2 PIECES ACK, EVEREADY	51⁄	30.00	/ Php	1,530.00 ,
	o beend puttere about a pack;	The second state of the second state of the second state of the	CELL AAA, 2 PIECES ACK, EVEREADY	81 /	30.00 /		2,430.00
	pcs	BATTERY, LR 41	L, GENERIC /	8	30.00	e Lois de Lois e	240.00
7	box	CARBON FILM, 297mm, BLUE,		6	250.00 /		1,500.00
8 0	pcs	The reason was not a second se	TRANSPARENT	17 /	47.00	Theorem in the	799.00
16		CORRECTION T. (MIN) 1 PC. IN	APE, 8 METER INDIVIDUAL PLASTIC	83 /	18.00		1,494.00
17	roll	ALTERN ALTERNITY OF THE	APE FOR OLYMPIA XE MD, OLYMPIA	7 /	700.00		4,900.00
21		FOLDER, ARCHI GENERIC	FILE, LEGAL,	15 /	90.00		1,350.00
	n Pyrintine, dor n Carl, such (Ar	a hear that's temperature of the second s		SUB	-TOTAL	non Php	14,243.00
o ta sili oscilla	o no en rie i o no cio es vie Mentru es o		AAAAAAA NEXT DA	E ~~~~~			SouthA R1
		ent agel					
ERMS AND CO	SU INDITIONS ACCE	PPLIER ACCEPTANCE	TE ACCEPTED	REVIEWED BY	REVIEW AN	cted M.B	e Redacted
RIGINAL PO R	ECEIVED BY	DA	TE RECEIVED;	APPROVED BY	TY. KE. SIN		

VARYLINE CORPORATION

		DESCRIPTION	JANTITY	UNIT PRICE	AMOUNT
22	pcs	FOLDER, EDP (CONTINUOUS FORN FOLDER), 11" x 9-1/2", GENERIC	3	90.00	Php 270.00
25	pcs	FOLDER, MOROCCO, A4, 50 PCS/ PACK, SPECIALTY, BLUE, GENERIC	200	15.60	3,120.00
26	box	FOLDER, HEAVY DUTY, PRESSBOARD, SIZE 240mm x 370mm 100s/BOX, GENERIC	19	1,800.00	34,200.00
28	pcs	GEL INK PEN, BLACK 0.3, GENERIC	66	18.00	1,188.00
29	jar	GLUE, ALL PURPOSE, 200 GRAMS MIN, GENERIC	19	72.00	1,368.00
34	pad	NOTE PAD, POST-IT, 4 x 6, GENERIC	69	66.00	4,554.00
40	pack	PAPER STICKER, MATTE, A4, 10's GENERIC	33	36.00	1,188.00
13	neam	PAPER, MULTI-PURPOSE (COPY), A3, 70GSM, COPY ONE	12	409.20	4,910.40
4	ream	PAPER, NEWSPRINT, WHITE GENERIC	10	150.00 /	1,500.00
5	pack	PAPER, PHOTO, GLOSSY, A4, 10's, GENERIC	30	48.00	1,440.00
7	ar	PASTE, WHITE, 7 Oz., GENERIC	8	45.00	360.00
0	box	PENCIL LEAD, 0.5, ONE (1) DOZEN PER BOX, GENERIC	7	72.00	504.00
		DODDODDODD NEXT PAG		~~~~~~	Php <u>54,602.40</u>
S AND CONDITI	SUPI ON ACCEPTED BY	PLIER ACCEPTANCE DATE ACCEPTED REVIE	WED BY	REVIEW AND APPROVING	gnature Redacted

.

VARYLINE CORPORATION

SHEET NO 3 OF 4

-717 (REV 01/92)	SE ORDE	R VARYLINE CORPORA			PO NO 298795
		DESCRIPTION	QUANTITY	UNIT PRICE	AMOUNT
51	bdl	RAG, ALL COTTON, 32 PIECES PER KILO PER BUNDLE, GENERIC	6/	80.00	Php 480.00
54	book	RECORD BOOK, 500 PAGES SIZE: 214mm x 278mm min	30	114.00	3,420.00
55	box	RIBBON for OLYMPIA CARRERA DELUXE MD, OLYMPIA	6	830.00	4,980.00
56	roll	RIBBON, IBM EASY STRIKE #1380999, IBM	1 -	240.00	240.00
57	noli	RIBBON, OLYMPIA COMPACT 5DM OLYMPIA	1/	456.00	456.00
59	pack	RUBBER STRIPS, for CARL DC210 CUTTER, 2 PCS/PACK, GENERIC	3	880.00	2,640.00
60	box	SELF ADHESIVE LABEL, 1 x 4 GENERIC	1	90.00	90.00
61	box	SELF ADHESIVE LABEL, 1 x 6 GENERIC	1	90.00	90.00
66	pc	SPARE BLADE, for CARL DC210 GENERIC	1	240.00	240.00
71	roll	TAPE, MASKING, 24mm, 50 meters length, GENERIC	32	30.00	960.00
78	pcs	PRESENTATION FOLDER, A4, BLACK, GENERIC	25	30.00	750.90
79	pcs	RING BINDER, 3-HOLE, 3 INCHES A4, BLUE, GENERIC	10	216.00	2,160.00
		OCCORDONO NEXT		B-TOTAL	Php 16,506.00
MS AND CONDITI	SUP ION ACCEPTED BY	PLIER ACCEPTANCE DATE ACCEPTED	REVIEWED BY	REVIEW AND APP	Signature Redacted 🛛 📕
GINAL PO RECEN	VED BY	DATE RECEIVED	APPROVED BY	Signature Redact	

.

.

URCH	SHEET NO 4 OF 4				
717 (REV 01)	/92)				PO NO 298795
TEM C NO	OMMODITY CODE UM	DESCRIPTION	QUANTITY	UNIT PRICE	AMOUNT
80	pcs	FOLDER, ARCHFILE, A4, 3" GENERIC	15	46.00	Php 690.00
81	pcs	BATTERY, 9V, GENERIC	5	108.00	540.00
82	pcs	CLIP BOARD with COVER, PVC, A4 GENERIC	10	114.00	1,140.00
83	roll	VHP PAPER TAPE RECEIPT, 2-1/4 GENERIC	10	30.00	300.00
84	llor	STRETCH WRAP, 500mm x 200mm GENERIC	5	720.00	3,600.00
			SUB-TO SUB-TO SUB-TO	ITAL (P1)^^^^^ ITAL (P2)^^^^ ITAL (P3)^^^^ ITAL (P4)^^^^ ID TOTAL^^^^	Php 14,243.00 Php 54,602.40 Php 16,506.00 Php 6,270.00 Php 91,621.40
	and a state of the state of the	NOTE: 12% VAT			nere dan ten () Ser de la constante de la constante de la constante de la constante Senar de la constante de la constante Senar de la constante de la constante
	Second pro- allow by	בחברתו הקורטונות ארבונת ביול אחד ארבונים לאורלוסופר א היהי החליקה ארבונים ביול אחד ארבוקיים ל להי ניינקאית להווי ליד אול (האין אוידע לאוריבטור" בקווסו	n ha raamaan manaanna wiji		narras rand Star Glassicatio Charletterm28 (11)
	CONTRACTOR (CONTRACTOR) magnetic field of the contractor material science of the contractor	taring to an Transfer of the days of the second basis of the secon			ne and another 2 All
-	es emistra est es	a and a second sec			an tanapartif at
		a a separate solo dané na harma di secara dané na harma di secara dané na harma di secara dané na harma di sec		ه د استانه مراجع والاستفراد است مراجع والاستفراد است	
AS AND CON	SUPP IDITION ACCEPTED BY	PLIER ACCEPTANCE DATE ACCEPTED	REVIEWED BY	REVIEW AND ADDA	ignature Redacted
SINAL PO RE	CEIVED BY	DATE RECEIVED	APPROVED BY	ATTY A.E. SUYC	ted

1

PNOC Energy Company	and and the rel	191-000 VAT		PURCHASE PY-716 (Rev. 09			
	NAME AND ADDRE	SS	YOUR QUOTATION RE	FERENCE		PO Nº	298796
	BERT TRADI					REQUISITION PRM-	
	VA ECIJA	RCOS DISTRICT, TALAV	C C C C C C C C C C C C C C C C C C C	TION SUBMITT		DATE PO PRE	and the second se
PNO RIZI TAG		NERGY CENTER, RT BONIFACIO, GELISTA	ABOVE PURCHASE OF MUST APPEAR ON ALL S THE COMMODITY CODE ALL INVOICES AND SHIF FOLLOW ALL INSTRUCT PURCHASE ORDER	HIPPING AND BILLING S SHOWN BELOW MU PPING LISTS, CAREFU	G DOCUMENTS IST APPEAR ON JLLY READ AND	ACCOUNTING	29, 2024 G CHARGES
22	NET 30	MISSION OF ORIGINAL INV	or The emotion administration	CALENDA	la: Date: Wit R days upc		Y (30) I OF PURCHAE
ITEM NO.		DESCF	RIPTION				AMOUNT
		nanic and taky most from	-				
1	pcs			140	4.75	Php	665.00
2	pcs	BALLPEN, BUE, H	IBW 2000	80 -	4.75	-orano taña	380.00
	pcs		TLE, 2 [®] THICK, RIZONTAL, SIDE-I	15 . BIND	70.00		1,050.00
9	pcs	the second s	TRANSPARENT		36.25	wanto i yana	362.50
10	xod xod	CLIP, BACKFOLD 12 PIECES PER E	, 19mm, -		11.75		
11	box	CLIP, BACKFOLD 12 PIECES PER H	and the August and the second s	65 /	14.50	A server of the server framework of the server of the serv	942.50
12	box	12 PIECES PER E	, 32mm, 30X, GENERIC	51 /	21.25	 A start of participation A start of participation 	1,083.75
- inc	contractions contractions to U a Furchage	CLIP, BACKFOLD 12 PIECES PER E	BOX, GENERIC	42	51.25	-	2,152.50
(1)	P.(1) 1 SOL CO. 10	n soor and and a soor and a soor and a soor a so		6 ano Prov 9 any 1910	TOTAL	Php_	7,306.00
2.1	alto percentitore		NEXT PA	GE AAAAAA	~~~~		
ERMS AND	S CONDITIONS ACC	EPTED BY: DAT	E ACCEPTED:	REVIEWED BY:	REVIEW AN	Signatur	e Redacted
RIGINAL P	O RECEIVED BY	DAT	E RECEIVED	APPROVED BY.	Y. M. Sor	1	

Nº298796

LAMBERT TRADING

SHEET NO 2 OF 4

17 (REV 01/92)	ORDE	R LAMBERT TRADIT			PO NO 298796
EM COMMOD O CODE		DESCRIPTION	QUANTITY	UNIT PRICE	AMOUNT
15 -	box	COMPUTER CONTINUOUS FORMS, 2 PLY, 280 x 241mm, (11" x 9-1/ CARBONLESS, GENERIC	-	1,309.00	Php 3,927.00
18	tube	CUTTER BLADE, HEAVY DUTY CUTTER, 10 PIECES PER TUBE SIZE, HBW L18	/ 5	20.00	Php 100.00
19	box	ENVELOPE, EXPANDING, CLEAR, PLASTIC, PHILTINT	23	20.00	460.00
20	pcs	FOLDER, ARCHFILE, A4, 3"	10	81.75	817.50
27	pack	FOLDER, TAGBOARD, A4, 100 PIECES PER PACK, SYSTEM 1	10 4 PTS	432.25	4,322.50
31	ream	LAMINATING FILM, 125 MICRONS MGK, A4	11	450.00	4,950.00
32	pad	NOTE PAD, POST-IT, 1.5 x 2, /	61	11.75 /	716.75
33	pad	NOTE PAD, POST-IT, 3 x 5, /	72	27.00	1,944.00
35	pad	NOTE PAD, STICK-ON, 50mm x 76mm (2" x 3"), 100 sheets/pad, HBW	47	1.4.00	658.00
36	pad	NOTE PAD, STICK-ON, 76mm x 100mm (3" x 4"), / 100 sheets/pad, HBW	38	23.50 -	893.00
37	pad	NOTE PAD, STICK-ON, 76mm x 760mm (3" x 3"),	40	21.00	840.00
		100 sheets/pad, HBW	and stranged in	B-TOTAL ^ ^ ^ ^ ^	Php 19,628.75
				and an office of the second	
S AND CONDITION AC		DATE ACCEPTANCE	REVIEWED BY	REVIEW AND APP Signature Redact	Signature Redacted
AL PO RECEIVED BY		DATE RECEIVED	APPROVED BY	ATTY ALE SU	

UASE ODDED

LAMBERT TRADING

SHEET NO 3 OF 4

.

PURCH		R LAMBERT TRADIN	٩G		PO NO 298796
ITEM C NO		DESCRIPTION	QUANTITY	UNIT PRICE	AMOUNT
38	box	PAPER CLIP, GEM TYPE, 32mm, / 100 PIECES PER BOX, REGULAR	69	9.50 /	Php 655.50
41	ream	GENERIC PAPER, MULTI-PURPOSE (COPY), A4, 70GSM, OFFICE PRO	526	181.00	Php 95,206.00
42	ream	PAPER, MULTI-PURPOSE (COPY), LEGAL, 70GSM, OFFICE PRO	49	191.00 /	9,359.00
46	pack	PAPER, SPECIALTY BOARD, PLAIN, WHITE, 10's, A4 SIZE, 200GSM, W	and the second se	27.00	1,242.00
48	box	PENCIL #1, 12's, HBW 001	9,	62.00	558.00
49	box	PENCIL #2, 12's, HBW 002	8	62.00 -	496.00
52	book	RECORD BOOK, 150 PAGES	9	45.50	409.50
53	book	RECORD BOOK, 200 PAGES	16 /	51.75 /	828.00 · ·
58	box	RUBBER BAND, 70mm MIN LAY FLAT LENGTH (#18), MGK	11	128.00	1,408.00
62	pack	SIGN HERE FLAGS, HBW	59 /	25.00	1,475.00
63	pcs	SIGN PEN, BLACK, LIQUIDGEL INK, 0.5mm, NEEDLE TIP, DONG-A	107	21.25	2,273.75
64	pcs	SIGN PEN, BLUE, LIQUIDGEL INK, 0.5mm, NEEDLE TIP, DONG-A	91	21.25	1,933.75
				B-TOTAL 00000	Php 115,844.50
		NEAT PAG		55000	1
ERMS AND COP	SUPP	DATE ACCEPTANCE	REVIEWED BY	REVIEW AND APPS	R.M. BABERA
DRIGINAL PO RE			APPROVED BY	ATTY. A.E. SUY	

LAMBERT TRADING

717 (REV 0	1ASE (PO NO 298796
EM (≹O		́ UM	DESCRIPTION	QUANTITY	UNIT PRICE	AMOUNT
65		pcs	SIGN PEN, GREEN, LIQUIDGEL INK 0.5mm, NEEDLE TIP, DONG-A	1	21.25 /	Php 148.75
67		pcs	STAMP PAD, HBW	12	31.50	378.00
69		box	STAPLE WIRE, FOR HEAVY DUTY	3/	27.00	81.00
70		pcs	TAPE, DOUBLE SIDED, TISSUE / TYPE, 20mm, ARMAK	27	28.00 -	756.00
72		roll	TAPE, PACKAGING, 48mm, 50 METERS LENGTH, GENERIC	40/	29.25	1,170.00
74		640	STAMP PAD INK, GREEN, 50ML, HBW	3 <	21.00	63.00
75		neam	PAPER BOND, 80GSM, LETTER SIZE, OFFICE PRO	10	200.00	2,000.06
76		roll	LAMINATING FILM, ROLLS	1	1,040.00 (1,040.00
77		box	PUSH PINS, GENERIC	7	32.25 /	225.75
			and the second second state in the second	SUB-TO	TAL (P1)	Php 7,306.00
					TAL (P2)	Php 19,628.75
		1000 100	rang A Softlandile for all and the officience an ingrate basis in		TAL (P3) ~~~~~	Php 115,844.50
			and a series with the second set of the second s		TAL (P4) ~~~~~	Php 5,862.50
					ND TOTAL	Php 148,641.75
			NOTHING	A Description of the local division of the l	^^^^^	
			NOTE: 12% VA	FINCLUDE	D	and below the second
			and the grant of the state of t			reconcident's Ala
			LIER ACCEPTANCE		REVIEW AND APPF	ROVAL
S AND CC	ONDITION ACCEP	IED BY	DATE ACCEPTED R	EVIEWED BY	And	B-M BABERA
	ECEIVED BY		DATE RECEIVED A	PROVED BY	ATTY, A.E. SU	